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Q) SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

M is the largest 4 digit number, which when divided by 4, 5, 6
1 and 7 leaves remainder as 2, 3, 4 and 5 respectively. What will
be the remainder when M is divided by 9?

M 43iP] &I Had ISl HET g, i 4 5 63 79 fauiSa s W
AYPB A PHIT: 2 3 4dYT 53TAT 2 | T4 M b1 99 fautfora frar e,
a‘rﬂmw%ﬁm?

1) 2
2) 1
(3) 3
(4) 6
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| —— gthen what is the value of x ?
1+1+L1
1+§
gfe — l = g X PTHM ITd B
1
1+—1

1+§

%)

(2) 3
(3) 1
(4) 4
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How many 3 digit numbers are
3 completely divisible by 6 ?

%fﬁmﬁwiﬁaﬁmq:&mﬁﬁw

(1) 149
(2) 150
(3) 151
(4) 166
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~  Ifa+b =10 a2 + b2 = 58, then find ab.
. 4 ) ab FTUN T PR

)

(2) 24
(3) 25
(4) 16
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NG %, part of a tank is filled with oil. After taking out 60
' 5 litres of oil, the tank is 2/3 part full. What is the
capacity (in liters)
UP <l BT IAURTdd A WRIEATR | e0Ffer aa g a
%ag%ﬁm 23HTT HRIIEAT § | THI Bl &Hd (e H)
T ?

1) 240

) 360
(3) 600
(4) 720
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1000 QUESTION SERIES

| The percentage of metals in a mine of lead ore is 60%. Now

| 6 the percentage of silver is %% of metals and the rest is lead. If

' the mass of ore extracted from this mine is 8000 kg, the masss
(in kg.) of lead is :
=T 3R & TP W | eoufa=rd erg%l i) T UTIRIT ST BT
Favfa=ra 8 SR v 2= 81 afe @ A svvofdrar srap fRrepTan
ST 8, 9 SO fpa- fear = g

yu) 4763

(2) 4764
(3) 4762
(4) 4761

https://t.me/MathbySuryaveersir |



__\ SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES ':

A shopkeeper increases the price of an object by 40% and
then sells it at 25% discount on the marked price. If the selling
price of such an object be Rs. 2100, its cost price for the

;g%pwkeeper% P BT 0Ufa=Id 981 ¢aT g 3R by 3
armaﬂnawzsu%ﬂmaﬁw%wm%]t@wmﬂ
faepa 9o 21009 Bl Al TATST GPHGR & AT I O 1 94 I

HT YT?

1) 3000
(2) 1500
(3) 1750
(4) 2000
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After giving 20% discount on an article there is a profit
O of 20%. What will be the profit percentage when no
discount is given?

9 R U= D Fe g1 & 91 W pufasra srary
gn%. AR W= BT ATy SN2

(1) 40
(2) 44
) 54
) 50
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(cosec A + sin A) (cosec A —sin A) is equal to./HI JTd

Oaﬂﬁrt{l

1) tan?A + sin?A
) cot?A + cos?A
(3) cot?A— cos? A
(4) tan? A-sin? A
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1
1

D and E are points on side AB and AC of AABC. DE is
parallel to BC. If AD : DB = 2 : 3, what is the ratio of
area of A ADE and area of quadrilateral BDEC?
AABC 1 YSIT AB 3R AC R D 3R Efdg 81 DE, BCH
mﬁijg 1 9f¢ AD : DB =2: 38, A ADE @ 3R aqys

?
BDEC DI ATUTd RITe™ 1) 4 : 21

(2) 4 : 25
(3)4: 29
(4)4:9
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. -:; A batsman scores 98 runs in the 17th match of his
i 1 career. His average runs per match increased by 2.5.
' 2 What is his average before the 17th match?

U Jeadrel A FNRD 7d T H BIFA TR 7D
ufd A" AT H 2591 IfS 5 | 174 AT A Ugd SAPT
AT HTE? (1) 58

(2) 60.5
) 63
) 55.5
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_ Eif’ Rs. 6000 is divided between A, B and C so that A receives 1/3
' 1 as much as B and C together receive and B receives 2/3 as
much as A and C together receive. Then the share of C is :

3 ¥.3000% A, B 3R c A WoR Ry frarmn s A, #1Bq
C S P e BT 139 BP! A 3R C H pa e BT 23uTd glam 2|

a9 C I fg AT Ara o |

1) Rs. 1200
12) Rs. 1525
(3) Rs. 1625
(4) Rs. 2100
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| :;f" An amount was lent for one year at the rate of 18% per annum
' 1 compounding annually, Had the compounding been done half
yearly, the interest would have increased by 324. What was the

4 amount (in Rs.) lent?

| wm&rﬁﬁﬁ%mmmmm@mﬁﬁaﬁ
SYR f3a1 7T | I3 ST SrFaitie g1 IR ST 3ME dg JArarg |
SUR &1 715 U1 (= W)y qar 2

1) 32000
Mz) 36000

(3) 40000
(4) 72000
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i 1 is 30 m2and volume is 500 m2 is

ﬁzmmammﬂma@maﬁmm
?

Mnso m

(2) 40 m
(3) 60 m
(4) 20 m
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In a 100 mt race ,kamal defeats bimal by 5 sec ,if the
speed of kamal is 18 km/hr ,then the speed of blmal ?

100MeT F IS AP I A 1 5qHS A ST
Hud o1 TS efedirere, a‘rﬁwraﬁﬂﬁr srlaao“\f ?

(1)154

2) 145
Mn) 14

(4) 14
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Home work

The radius of based of solid cone is 9 cm and its height is 21 cm. It cut into
3 parts by two cuts, which are parallel to its base. The cuts are at height of
7 cm and 14 cm from the base respectively . What is the ratio of curved
surface areas of top, middile and bottom parts res!!)ective

ly?

T ST U & ST Y P 9 0l T et et 21 i1 & 5 @ wrera, o
TYR P JHTGR & | 3 U H ST 74T | HIG TR W HHT: 730 TUT 1477
?@w%lmzm,wamﬁaﬁuﬁ%wwammmw
| (1)1:4:8

(2)1:3:5

(3)1:3:9

(4)1:6:12
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0 (12 + 22432+.......4102) = ?
0

(1) 330
(2) 345
3) 36
[OELE
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The total number of digits used in
2 numbering the pages of a book having 366
1 pagesis: P -~
BBYE! dTell [Xd & Y81 &1 H&IT H Ugad 3Pl
D P HST 6:

(1) 732
(2) 290 |
(3) 1198
(4) 1335
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The number of perfect square number
between 50 and 1000 is — .
2 031X 10009 9 T T B P W8 -
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252 m of pant cloth and 141 m of shirt cloth are available in a
cloth store. To stich one pant and one shirt, 2 (1/2)m and 1(3/4) m
of cloth are need respectively. Then the approximate number of
pants and shirts that can be made out of it are —

TP PUS DI g A 22 PUST 3R 11 Hew ¢ pusT Sua= 2|

wﬂ?éﬁvwm‘ﬁ%amﬁ%ggm: 2(1/2)11’rai’l"\r1%.?/;3%;11_:5r

PUS PIoeRd gl g | TR de 3R

T &1 I H=T

(1) (80, 100) (2) (100, 80)
(3) (100, 90) (4) (90, 80)
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